9.10 Box Out Area.notebook April 12, 2019

DO NOW

Rhombus STAR has vertices S(—1,2), 7(2,3),
A(3,0), and R(0,—1). What is the perimeter of

rhombus STAR? — s
ST = f(—l—z) + (2‘35

1) /34
<T:=J70
2)  4-[34

3) 10 4710 |
@ 410

Area of Polygons in the Coordinate Plane

"Box Out" the shape, creating a rectangle and
right A's

Find the area of the rectangle andeach
right A

Subtract:
Area of Rect - Area of Right A's
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1) Triangle RST is graphed on the set of axes below.
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How many square units are in the area of A RST?

1) 93415
2) 94/5+15

4 90

2) Find the area of trapezoid ABCD with vertices 4(0,4), B(3,8),
C(7,8) and D(1,0)
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A= 5-4=30)
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3) Find the area of parallelogram ABCD with vertices
A2, 1), B(7, 1) and C(10, 5) and D(5, 5)
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02, 1), and R(—1, -3).

4) On the set of axes below, the vertices of APQOR have coordinates P(—6, 7),

y
(a) What is the area of APQOR? :
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(b) What is the perimeter of APQOR?
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